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PLC: X20CP1382
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o IREWESE AL B AEAN TP A5
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3. PRI
3.1 Bc & A Ak

3. 1.1 S AfalfR*. eds SCAF, 0% CP1382 CANopen i, 7 CAN 42 [ H 4 A0 B A
) IR IX 2l 2% o

3. 1.2 TEfA AR ORS) #8588 o X 5 “ %Mz B 60CLh” 3G nE] RPDO 1, K2l 60C1h
X W R RPDO 251 B NEIAF2P AR (cyclic—synchronous) , ¥ 60C2h T2 5| 01h
X G A AN E B BN 2ms, A PDO AN Ran N H s, vERE: J5 A RS B 4k



P IS, A 00K Aa] e for B M2 A 1 O 1Khz, XA 2@ PC B fAI ik PC 4 H
BAFHATIES, TR A AME .

3. 1.3 N FRD A BAfiAMEN, F B BIFEPMWOC, R T2 BRI
3, AEF BT IF RS IROCKIEN, TR R SORGE A I B BN 2ms, A il
A7 B Al b ) 9 B — 4, IFKs CANopen B3R A I BN 1ms.

e LI Y AL L SIS QU _uuon
Eh-y ¥ TheFirstParameterOflpFunction_60C1sub1
----- a @ Parameter name the first param...
----- a @ Direction Output (rww)
----- 1 ¥ Receive from masterin RPDO2
..... a @ Datatype Integer32
..... a @ Lowlimit -2147483648
----- a @ High limit 2147483647
----- @ Parameter value L
Et-y ¥ IpTimeUnits_60C2sub

Parameter name ip time units
Direction Output (raw)
Receive from master in Mo reception
Data type Unsignedd
Low limit 1

High limit

Parameter name ip time index

Direction Output (raw)
Receive from masterin Mo reception
Data type Integerd

Low limit -3

High limit 3
Parameter value -3

A MaxAcceleration 60C5

A 1. FE PDO 24

(Hl SVEBOC_V1.2_CL1

B ¥ General

. e @ Module supervised oft
G-y % Channels

E| _"’ Communication para...

|
- @ COB-ID SNODEID+0x300

i @ Implicitactivat . On

----- @ Transmission ... synchronous - cyclic
o @ Numberofsy. 1

B ¥ RPDO3
B ¥ RPDO4
B & TPDO1
B ¥ TPDO2
B % TPDO3
B 4 TPDO4

2 & RPDO W IiASH



Bty CAMNopen parameters

----- ¢« @ Activate CANopen communication on
B~ ¥ Cross links Direct data transfer between slave modules
B~y ¥ Network management parameters
----- : @ CAN node number 10
----- @ Start all slaves on the CAN network oft If setto off, only configured slaves will be started individually.
----- @ Startslaves after configuration on If setto off, the slaves will only be configured (SDO downloads, etc ) |
----- @ Ignore slave configuration errors on
----- @ Emergency message handling Receive mes.. Setthis option to 'Receive messages for configured slaves only' ify
----- @ Onerror control of a mandatory slave treat all slave...
----- @  Maximum boot-up time [s] 0
----- @ Plug and play timer [min] 10
----- 1 @ CAN driver cycle time [ms] 1
----- : @ CAN driver priority Cyclic #1
E~ “ Heartbeat
_ )
ey @ Activate sync on
-+ ® Communication cycle period [lis] 2000
-y @  Synchronous window length [js] 2000

K 3. BB FHRYE

Channel Name Physical Value ForceActivated ForceActivated Value Process Variable

+@_ModuleOk TRUE O FALSE gCANopenMotorRp[0] Oulput I0Map ModuleOk
+Q@ ModeStatus 261 [m} 0

+@ EnorCode_603F 0 O 0 :gCANopenMotorRp[0].OutputlOMap ErrorCode
@+ Controlword_6040 6 O 0 2gCANopenMotorRp[0].OutputlOMap.ControlWord
+Q Statusword_6041 561 O 0 =gCAMopenMotorRp[0].Qutput|OMap.StatusWord
@ ModesCfOperation_6060 7 m} 0 gCANopenMotorRp[0] OutputIOMap OptMade
+Q ModesCfOperationDisplay_6.. 7 m} 0 =gCANopenMotorRp[0] OutputlOMap ActOpMode
+Q PositionActualValue_6064 -756497447 m} 0 :gCANopenMotorRp[0].OutputIOMap. ActPosi

+2 VelocityActualValue_606C 0 O 0 :gCANopenMotorRp[0].OutputIOMap.ActVel

@ HomeOffset_607C 0 ] 0

@ TheFirstParameterOfipFuncti -756497447 m} 0 gCANopenMatorRp[0] OutputIOMap IPSetPosi
+Q Digitallnputs_60FD 0 [m} 0 =gCANopenMotorRp[0] QutputIOMap Dilnput

A 4. BE PDO NS H— 5%
3.2 ¥WHIREF
3. 2. 1AM B CTA402 Pl Rl TP, BT R 6060h 42 il 3 75 B E N 7o
3. 2. 2 i AME RO 7 A I 5 6040h XF ) bitd WE N 1.

3.2.3 SABRAER) SDC /7, 4 SDC #2 | 2 AE ACOPOS ZH K HHARYE L b Kl AT 4K
5, AU FH 1 ARG 4 — 8y 8833608, H ARSI KRR,

3.2. 4 BB LI CANopen J7 30 R HPIRAHLE L, 40 F EIFTR
3.2.5 HMSMAZHIRLIT, B — A meh, AP IR R B R 238 30

3.2.6 R A KIS EI BRI P IAEAESS S5 1 AT, JPRAESS SRS 1 PR T
BN 2ms, BRAG RIS ANE I



EEAL scale num = 0;
gChNopenMotorBp[i] . Input. Param. SetVel = 0;

gCANopenMotorRp[i] . Cutput . ICMap . CptHMode = 7;
gCaNopenMotorRp[i] . Output. ICHap. ControlWord = &;

K 5. FE/7 i B RIS R

Jame D Value Unit Description
=2 Parameters

- @ |SCALE_ENCOD_INCR ]109 8386608

Encoderl: Encoder scaling: increments per encoder revolution
Stepper motor: Step scaling: Steps per motor revolution
Stepper motor: Load scaling: Motor revolutions

Stepper motor: Load scaling: Units per SM_SCALE_LOAD_MOTREV motor revolutions
Limit values: Ignore SW end positions

-- @ SM_SCALE_STEP 64232 8388608

- @ SM_SCALE_LOAD_M.. 64234 30

-- @ SM_SCALE LOAD_U.. 64233 10000 Units
- @ SGEN_SW_END_IGN.. 128 3

6. FE SDC EHIZH

gS5dcAxisCtrl.status.controlWordIO[index] = ((gSdcAxisCtrl.status.moduleCkIC[index]<<1l) + (gSdcAxisCtrl.status.moduleQkIC[index]<<2) +

{gSdchxisCerl.cfg.diolf [index] .oDriveEnable ) + (oDriveEnableDelay[index]<<3) + (gSdchxisCtrl.cmd.ackError[index]<<T));

if (gSdcAxisCtrl.status.stateMachine[index] == STATUS_OPERATION ENABLE)
gSdchxisCrrl.status.controlWordIC[index] += (oDriveEnableDelay[index]<<4):

g3dchxisCtrl.cmd.ackError[index] = Axisctrl.Reset;
if(gSdcRxisCtrl.cmd.a ro dex] == 1) rrorResetDelay +=

if (errorResetDel,

IME) gSdcAxisCtrl.cmd.

M EEBAE
if(gSdcRxisCrrl.status.stateMachine[index] != STRATUS_OPERATICN_ ENRBLE)
{

gSdchxisCtrl.status.posOffset [index] — gSdeAxisCtrl.monitor.actPosIncIO[index] - gSdcRxisCtrl.cfg.drvIf[index].oSetPos;

gSdcAxisCtrl.monitor.setPosIncIO[index] = gSdcAxisCtrl.cfg.drvIf[index].oSetPos + gSdcAxisCtrl.status.posOffset([index]:

K 7. G5 1R S LE

3.3 PR TE kS

3.3.1 P t-predict, J/Masinz, WA T RE t-predict BN 0.02s i, H7E
RZER/N, [FBTPEA B E S YRRt —2 A ER, W E TR



ghxis0l ... CTRL Position concrolle

Lag error, 03/20/23, 10:52:24

150.0/x-pos. 4.75200
v-pos. -313.39624

100,

-50.0

-100.

unzts

-150.

-200.0] \\

-250.0]

-300.0f |
N ew. j I o T | ISR 'y

-350.0]

0.0 1.0 2.0 3.0 1

0 5.0 5.0

oRxis0l ... CTRL Position contzoller: Set speed, 03/20/23, 10:52:2%

18000, 0fx-pos . 4.752000
y-pos. 10000.0000G0
1€000.

14000.

12000.

10000, T

2000,

unztsss

6000,

4000,

2000,

a.

—2n0n ol

gAxis0L ... CIRL Position controller: Lag erzor, 03/20/23, 10:46:20 time/

0.04

450.0[x-pos. 5.466000
y-pos. 196.711411

400.

350.

300.

250.0]

200. -
/ R

150.

100.0)

Tnits

50.0,

-50.0)

0.0 1.0 2.0 3.0 4.0 5.0 6.0 7.0 8.0 5.0 10,
ohxisOl ... CTRL Fosition controller: Set speed, 03/20/23, 10:46:20 cime/

18000.0x-pos.. 5.468000

y-pos. 10000.0000G0
16000,

14000.

12000.

10000. |

8000.

Units/s

6000.

2000,

2000.

0.

-2000.0|



gAxis0l ... CIRL Position controller: Lag error, 03/20/23, 10:50:55 time

450.0[x-pos. 5.274000 1
t _Predict=0.01

350,

unzts

150,

100.0) //

50.0]

-50.0

0.0 1.0 4.0

[

. [ 7.0 8.0 5.0 10
gRxis0l ... CIRL Position controller: Set speed, 03/20/23, 10:50:55

18000.0|z-pos. 5.2740Q0

v-pos. 10000.000040
16000.

14000.

12000.

10000. |

8000.

units/s

6000.

4000,

2000,

.

-2000.0|

& 10,

50 time/q

ict=0.02

gRxisOl ... CIRL Position concroller: Lag error, 03/20/23, 10:5
90.0x-pos.  7.756000 .
v-pos. 87.17417%

| S—

79.9

€0. A]I
(
e
10.90 /

-10.9

Units

0.0 1.0 2.0 3.0 4.0 [} 6.0 7.0 8.0 5.0 10.0

et speed, 03/20/23, 10:5%:50 time/s

gAxisOl ... CIRL Position controller

18000.0[x-pos. 7.756000

v-pos. 10000.000000
16000.

12000,

12000.

10000. |

3000,

Units/s

€000,

2000.

2000.

0.

-2000.9)

A 11



B

ghxis0l ... CIRL Position controller: Lag error, 03/20/23, 11:0:

180.0[x-pos.  4.732000
y-pos.  86.432411

| Measurement Cursor’s y-Position |

Units
o
a

3.0 3.0 5.0 6.0 7.0 8.

o
w
o

ghxisOl ... CTRL Position controller: Set speed, 03/20/23,

12000.0fx—pos. 4.7320d0
y-pos. 10000.000000

14000.

2 10000.

6000.

2000.

-2000.0|

gRxis02 ... CTRL Fosition controller: Set speed, 03/20/23, 11:02:

13000.0/x-pos. 4.732000
y-pos. 10000.000000

14000.

10000,

Units/s

6000.

2000.

-2000.0]

gAxis02 ... CIRL Position controller: Lag error, 03/20/23, 11:02:19 Time/:

90.0fx-pos.  2,732000 I r =5 = o = i
v-pos.  £6.427292 R | 1 | I | | 1

A 12



